
© Copyright:  	 www.nextias.com(12 – A)

CSE (Prelims) Test Series-2022

	 Which of the statement/s given above is/are 
correct?
(a)	1 only
(b)	1 and 2 only
(c)	1 and 3 only
(d)	1, 2 and 3

64.	 Which among the following are Components 
Of India’s Forex Reserves?
1.	 Foreign Currency Assets
2.	 Gold
3.	 Special Drawing Rights (SDRs)
4.	 Reserve Tranche Position

	 Select the correct answer using the codes 
given below:
(a)	1, 2 and 3 only
(b)	2, 3 and 4 only
(c)	2 and 4 only
(d)	1, 2, 3 and 4

65.	 With reference to Surety Bond,consider the 
following statements: 
1.	 It is a legally binding tripartite agreement 

signed between the principal, obligee, 
and the surety.

2.	 It can reduce the initial project cost and 
improve the overall project viability.

	 Which of the statement/s given above is/are 
correct?
(a)	1 only
(b)	2 only
(c)	Both 1 and 2
(d)	Neither 1 and nor 2

66.	 With reference to Incremental capital-
output ratio (ICOR), consider the following 
statements:
1.	 The incremental capital-output ratio 

(ICOR) explains the relationship 
between the level of investment made 
in the economy and the consequent 
increase in GDP.

2.	 Higher capital-output ratio shows that 
capital is very productive or efficient.

	 Which of the statement/s given above is/are 
correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

67.	 Which of the following correctly defines 
Nash equilibrium?
(a)	A strategy is better for a participant, no 

matter how that participant's opponents 
may play.

(b)	For any given event 80% of outcomes 
result from 20% of all causes.

(c)	A majority of scientific publications 
in a field of study come from a small 
number of authors.

(d)	No participant can gain by a unilateral 
change of strategy.

68.	 With reference to the Indian economy, 
consider the following statements:
1.	 ‘Commercial Paper’ is an instrument 

that can be issued for maturities between 
a minimum of 7 days and a maximum 
of up to one year from the date of issue 
(short-term).

2.	 ‘Certificate of Deposit’ is a long-term 
instrument issued by the Reserve Bank 
of India to a corporation.

3.	 ‘Call Money’ is a type of money i.e. 
borrowed for more than 1 day but a 
maximum of 14 days.

4.	 ‘Zero-Coupon Bonds’ are the interest-
bearing short-term bonds issued by 
the Scheduled Commercial Banks to 
corporations.

	 Which of the statement/s given above is/are 
correct?
(a)	1 and 2 only
(b)	1 only
(c)	2 and 3 only
(d)	2, 3 and 4 only

69.	 Who among the following can cancel the 
Certificate of Registration (CoR) issued to 
Application-based lending operators on the 
grounds of Know Your Customer (KYC) 
violations?
(a)	Ministry of Finance
(b)	Securities and Exchange Board of India 

(SEBI)
(c)	Reserve Bank of India (RBI)
(d)	Ministry of Science and technology


